QUALITY POWER TOOLS

SHEET: 1/8

ART. NUMBER: 45646

MODEL: PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm

POS. | CODE DESCRIPTION aTy
43 ADL244 SCREW MaX14 2
65 A03934 SPARK PLUG 1
66 A04194 EYELET-CARBURETOR 1
67 A03943 SCREW M5X14 2
68 AD4195 BOOT-INTAKE 1
69 A04196 GASKET-INTAKE 1
70 A04204 GASKET-CYLINDER 1
71 ADLLLT RING -SNAP 2
72 AD44LS PIN-PISTON 1
73 A0LLOL RING-PISTON 2
Th A04L0S PISTON 45mm 1
75 A04247 WASHER-SPACER PISTON 2
76 A04205 BEARING-NEEDLE CONROD 1
77 A04248 CRANK SHAFT-CONROD ASSY 1
9 AD3929 SOKET HEAD CAP SCREW MoX20 b
102 | A03922 KEY-FLYWHEEL 1
103 | A04203 NUT M3 2
104 | A04202 SHIELD-MUFFLER 1
105 | A04200 MUFFLER 1
106 | A04199 GASKET-MUFFLER 1
107 | AD4198 COACH BOLT 2
108 | A04260 CYLINDER 45mm 1

PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm



QUALITY POWER TOOLS

SHEET: 2A/8

ART. NUMBER: 45646

MODEL: PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm

PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm

POS. (1] 3 DESCRIPTION aTY
21 A04129 FUEL PAT 1
23 ADL2T1 CROSS RECESSED PAN HEAD SCREW 3
24 A04140 PLUG-PAD (SMALL) 3
55 A0&173 0IL SEAL 1
56 ADLITN BEARING-NEEDLE 6202 2
57 A04168 CHOKE KNOB DAMPING SEAT 1
58 AD4167 CHOKE KNOB DAMPING COVER 1
59 AD4166 CHOKE KNOB 1
61 AD4165 PAD-RUBBER CUSHIONING (SHORT) 3
62 AD4170 PLUG-PAD 1
63 A04208 LOCATING PIN 3
ol A04209 GASKET-CASE 1
78 ADL249 SOKET HEAD CAP SCREW 3
79 AD4250 RETAINER SWITCH 1
81 AD4252 CRANK CASE-LEFT 1
84 A04219 SNAP RING 1
85 A04220 0IL SEAL 1
86 AD4221 OIL SEAL PLATE 1
87 A04222 SOKET HEAD CAP SCREW M4X6 2
88 A03926 NUT M8 1
89 A04223 FLYWHEEL 1
90 ADL216 SOKET HEAD CAP SCREW M5X30 3
91 A04215 SOKET HEAD CAP SCREW M5X25 2
92 A04254 OIL CAP 1
93 A04255 OIL CAP GASKET 1

g | K156 OIL CAP ASSEMBLY :




ART. NUMBER: 45646
FFGrRouP MODEL: PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm

QUALITY POWER TOOLS SHEET: ZBIB
POS. CODE DESCRIPTION aTy
94 AD4256 WIRE-SWITCH 1
9 A03929 SOKET HEAD CAP SCREW M5X20 2
96 AD4257 ELECTRONIC IGNITION 1
97 AD4258 ELECTRONIC IGNITION CAP 1
98 AD4212 HOSE OIL JOINT 1
99 AD4211 HOSE OIL 1
100 AD4210 RING-SNAP 2
101 AD4259 HEAT RESISTANT PIPE 1
109 AD4261 CRANK CASE-RIGHT 1
110 AD4193 VALVE VENT 1
m AD4192 AERATE SPIGOT RING -SNAP 1
112 A04191 AERATE SPIGOT SPONGE 1
113 AD3977 SPIKE 1
114 A04262 STUD M8X46 2

SET1

®
&

©
&,
-
3\4

®6 ©®
L)
RER

[e0)
00

PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm



QUALITY POWER TOOLS

SHEET: 3/8

ART. NUMBER: 45646
MODEL: PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm

POS. | CODE DESCRIPTION aty
23 A04271 CROSS RECESSED PAN HEAD SCREW 1
43 A04244 SCREW M5X14 1

SET2 | A04177 CLUTCH ASSEMBLY 1
48 A04178 WASHER-CLUTCH 1
49 A04179 DRUM-CLUTCH 1
a0 A04230 SPROKET 1
o1 A04180 BEARING-NEEDLE CONROD 1
a2 AD4181 GEAR-WORM 1
a3 A04182 SOKET HEAD CAP SCREW M&X12 3
ok AD4183 OIL PUMP COVER PLATE 1
115 | AD4190 PAD RUGHT 1
116 | A04189 PLATE-0IL OUT 1
N7 | A0L263 SOKET HEAD CAP SCREW M&X10 1
118 | AD4172 OIL FILTER 1
119 | AB&175 OIL PIPE 1
120 | A0&174 SPONGE-0IL PUMP 1
121 | A04176 0IL PUMP 1
122 | AD4184 OIL OUTLET-OIL PUMP 1
123 | AD4264 SCREW M&X14 2
124 | AO4187 SPRING-DAMPING 1
125 | AD4186 SPRING-DAMPING SUPPORT 1
126 | AD4185 PAD 1

PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm



ART. NUMBER: 45646
FFGrRouP MODEL: PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm

QUALITY POWER TOOLS SH EET ll/ 8
POS. | CODE DESCRIPTION aTy
25 AD4164 GASKET 1
26 A04163 SUPPORT CARBURETOR 1
27 A04162 HEAT PROTECTION GASKET 1
28 A04161 FLANGE-CARBURETOR 1
29 A04143 FUEL INLET TUBE 1
30 A04160 CARBURETOR 1
3 A04237 ROD-THROTTLE 1
32 AD4082 FUEL PIPE SPRING 1
33 A04146 | SHOCK-REDUCING RUBBER (INLET ELBOW) 1
34 AD4147 SOKET HEAD CAP SCREW M5X50 2
3 A04238 INLET ELBOW 1
36 A04239 AR FILTER 1
37 A04240 AIR FILTER COVER 1
38 A04241 IDLING ADJUST GUIDE BUSH 1
39 A04242 KNOB-AIR FILTER 1
40 A04014 GASKET-KNOB 1
41 A04158 SNAP-TOP COVER 2
42 A04243 AIR FILTER COVER 1
43 ADL244 SCREW M5X14 3
b AD4245 COVER- TOP 1
78 A04249 SOKET HEAD CAP SCREW 2

PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm



ART. NUMBER: 45646
FFGroup MODEL: PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm

QUALITY POWER TOOLS SH EET: 5/8
P0S. | CODE DESCRIPTION aTYy
SET3 | A12567 BRAKE COVER ASSEMBLY 1
15 | AD4190 PAD RUGHT 1
127 | A04406 BRAKE COVER 1
128 | 04407 DIAMOND DAMPER 1
SET 3: 129 | A48 NUT M8 2
B*;’;';E;gt’f“ 130 | AQL409 FLAT GASKET 2
131 | A04410 PLATE-BRAKE 1
132 | 0441 SPRING 04 2
133 | A04412 PIN-LEVER 1
136 | A04413 SPRING 03 1
135 | AQL414 LEVER-CHAIN BRAKE 1
136 | A04415 PIN 1
137 | AO4416 VICE-SPRING-ACTUATION 1
138 | A04417 MAIN SPRING-ACTUATION 1
139 | A04418 PLATE-BRAKE 1
0| A04419 PIN 3X9 2
41| A04420 PUSHER-SPRING (BRAKE) B 1
42| A0ss21 PUSHER-SPRING (BRAKE) A 1
13+164 | ADLL22 TOOTH-CHAIN ADJUSTING SET 1
45 | ADL424 SPROCKET-CHAIN ADUSTING 1
46 | A04425 COVER -BRAKE SPRING 1
W | AD4426 CROSS RECESSED PAN HEAD SCREW ST4.2X9.5 5
8 | Avsk27 RUBBER RING 1
49 | A04428 SPRING-LEVERAGE 1
150 | A04429 HOLLOW PIN 1
151 | A04430 PLATE-BAR 1
152 | A04431 PIN 3X8 1
153 | A04432 BAND-BRAKE 1
156 | A04433 STRAP-RUBBER 1

PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm



ART. NUMBER: 45646
MODEL: PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm

QUALITY POWER TOOLS SH EET 6/8

POS. | CODE DESCRIPTION aTy

SET 4: 155 SET 4 | A12566 STARTER ASSEMBLY 1

STARTER 43 AOL244 SCREW M5X14 4

ASSEMBLY 155 | AD4434 SCREW 1

156 | AD4435 FLAT GASKET-PULLEY 1

157 | AOLA436 PULLEY COVER 1

@ 158 | AO4437 SPRING-STARTER 1

@ 159 | AO4L438 PULLEY-STARTER 1

@ 160 | AO4439 RESET SPRING-STARTER 1

162 | AOL44D STARTER COVER 1

163 | AOLbLA41 COVER-ROPE 1

164 | AO4442 HANDLE-STARTER 1

@ 165 | AOLA4A3 ROPE-STARTER 1

@B—"
n

L

43

162

PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm



QUALITY POWER TOOLS

SHEET: 7/8

ART. NUMBER: 45646
MODEL: PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm

POS. | CODE DESCRIPTION aTy
1 A04231 FUEL TANK 1
CROSS RECESSED PAN HEAD
! Adizr2 SCREWSTA.8X19 1
3 AD4137 LEVER-SAFETY TRIGGER 1
4 A04232 COVER-REAR HANDLE 1
9 AD3965 OIL PRIMER 1
6 A04138 TRIGGER SAFETY 1
7 AD4000 SPRING-TRIGGER 1
8 AD4O49 PIN-TRIGGER 6X28 1
9 A04139 PAD-RUBBER CUSHIONING (LONG) 2
10 AD4233 PLUG-PAD (BIG) 2
1 A04133 SCREW L30 2
12 A03979 BALANCER SUPPORT 1
13 A03980 BALANCER SUPPORT 1
14 A04142 OIL RETURN PIPE 1
15 AD4234 FUEL PIPE 1
16 AD4235 FUEL FILTER SPRING 1
17 A04143 FUEL FILTER 1
18 A04135 | SHOCK-REDUCING RUBBER (DUPLES NAIL) 1
19 AD4131 FUEL CAP 1
20 AD4Z36 0 SHAPE GASKET 1
21 AD4129 LINKER 1
2 AD3997 SWITCH 1
82 AD4253 HANDLE 1
83 ADA2T1 SCREW ST4.8X16 b

PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm



QUALITY POWER TOOLS

SHEET: 8/8

ART. NUMBER: 45646

MODEL: PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm

POS. | CODE DESCRIPTION aTy
60 * CHAIN 0.325"-1,5mm-78 1
80 A04251 GUIDE BAR COVER 1
161 * GUIDE BAR 50cm- 0.325" - 1.5mm 1
166 A04024 ALLEN 4 1
167 A04025 PLUG WRENCH 1
168 ALO24 SEREDRl\/@jJSFMEE/LRTBURETUR :

PETROL CHAINSAW GCS 253 PLUS, 53cc/50cm

* MORE DETAILS TO OUR CATALOGUE



